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Note : Answer from both the Sections as directed. The figures in the right-hand margin indicate marks.

Wug / Section-A 1x10=10

1. fFrfafes sgfaeaia oot & s e
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(b)

(c)

(d)

(e)

(f)

(g)

(h)

Answer the following multiple choice questions:

QI /A & - qral &

Who is the father of Bhoodan Movement.

(i) eiea fae@ Lokmanya Tilak (ii) weTer it Mahatma Ghandhi
(iii) =Ry ==o1 g Choudhary Charan Singh (iv) fa=e1 910 Vinoba Bhave
ATH AoTedl AR w9 3= T3 ?

When did minimum wage act has been made?

(1) 1945 (i1) 1947 (1ii) 1948 (iv) 1950
BRd »ifd &1 S & w8
Who is the father of Green Revolution

(i) 7o €. 9IRSATT Norman E.Borelouge (ii) #8/@ el Mahatma Ghandhi
(111) ST@ 9T HR1GOT Jai Prakash Narayan (iv) STaI8R &l 8% Jawahar Lal Nehru
“Labour problems of India” I3 & o&@® DI 2—

Who is the author of “Labour problems of India.

(1) T WEw Prof. Mehta (ii) 9. @ Prof. Keynes
(i) €. 3R, . gt Dr. RK.Mukharjee (iv) €1 €. ¥ D.B.Murray
RT H SEIERT 9T 999 usel {5 g # orp @ 18 o
Which state was the Landlord-tenant system first applied in India-

(i) 9T w<¥w Uttar Pradesh (ii) %= Rajsthan
(iii) 919 Punjab (iv) uf¥=m Fma West bangal
TN TEE! @ AT Sarahdell BT AT BT B
The mariginal productivity of all means is the sum of -

(1) 3freeT ScTeH Average production  (ii) W=7 S=u7e9 Mariginal production
(1i1) a7 Sares Total production
(iv) ¥ i Swrea Mariginal physical production
PII—TITH AT TR 8§, G BT —

Cob-Douglas function indicate returns to —

(i) Rerk yfawe Constant Returns (i) 929 ufqwel Increasing Returns
(iii) w2 9fo%wa Decreasing Returns (iv) 98 ¥ ®1€ =€ None of the above
BRT wifd &1 et o™ 37 wae & 9wy gan—

Which crop gained maximum profit in Green-Revolution -
(i) 7§, Wheat (ii) ®urd Cotton  (iii) =14 Tea (iv) &1 Paddy




)

2.

(a)
(b)
(c)
(d)
(e)

g5 A7 foad € 5 &N swes derfers @ fon qovg erfhe oo 21
“Agriculture production is the basic working capital for Industrialization.”
Whose thought is this -
(i) v@ fA=e H.Myint (ii) @HAX D.B.Murray
(iit) S=—<s Icd E W.W. Rostow (iv) #gTe 7eft Mahatma Ghandhi
e g &) ®Hg 9g WY 8, T4 ST Aed g B gfo-
If there is increase in price of milk than dairy farmers  the supply of milk. -
(1) T < Increase (i1) =eT <7 Decrease
(iil) g gRac &l ¥ No change (iv) S w4 &1 W=1a & All of the above
frfoiea el @ Sar AT 2x5=10
Answer the following questions.
A TG B wAIfIT A a1 T R E ?
What are the factors effecting the determination of agriculture wage?
ITeA B Bt ar faewand fafey ?
Write any two characteristics of production function.
WERN WA T 8 7
What is co-operative farming?
R[IG—AENRT I @7 § ? ISR ST |
What is agro-based industries? Give examples.
TRT # BN &7 # si—sToR @7 ®1E o R fofa |
Write any two characteristics of Labour market in agriculture sector in India.
g / Section-B 12x5=60
e gw! @1 SR AR

Answer the following questions:

. IR aref waRen # By # AgEl # fagwer iR |

Explain the importance of agriculture in Indian Economy.
rerar / Or
RN SITRA A AT T TS § 7 59 Ay ARl vd Sl @1 avls SR

What do you understand by agriculture economics? Describe its subject matter and

limitations.

IRA H it smenlRa et & Re W gw ey foalag

Write an essay on “Development of agro based industries in India.”
dar/ Or

BRT ifd /1 8 ? 598 ¥ 9 ifval &1 Ieerd DIt |

What is green revolution? Describe its merits and demerits.

. 9RG § Y-GUR B Jiy @) fadeer S |

Discuss the progress of land-reforms in India.
sierar/ Or
AR {f¥ 7 A SRS @ GRUT DY faaa=n B |
Explain the causes of law productivity in Indian - agriculture.
ARG BN AT B UqE TN 747 € ? 37 TRl B X B B
U] 1 quie BT |
What are the main problems of India — agriculture Labourers? Describe the methods
which solve.



et/ Or
B &5 # 5 ok 3w o @ foeliaar w e i
Throw light on the mobility of Labour and labour market in agriculture
sector.

ARG BV & 7 IoTTR @ yafa iR faRmaredt &1 fage-r i)
Explain on the nature and characteristics of employment in the
agriculture sector in India.

arerar/ Or
DY APl B A TN FH @l B ? AP g [HuRer ) wfeagat o
IoAE BT |
Why is the rate of wages of agricultural Labourers low? Describe the
difficulties of minimum determination.




